ﬁﬂ

S

K.
&

%v~%%%ﬁég%ig
102 FHE % 2 2 H

FMELL PLRPEAKES A
B EAL:  HFH T LR

H=A 103.03.21 % > 103.04.04 FF 12 BHIE

Bhe a2 b0 BHBAEF 22— —1 B ax'"+br'+1 89RAKX > XK o 182 K%L ;087

[Mix—]) EEMARIEE A Flz)=ax'"+bx' +1> MBS P(x) B %A
ABAF P(z)(a? —z—1) = F(z) o &> BA P0)(0—-0—1) = F(0) ATk P( )
B HBELAE —1 o B> RMA (2 —2— 1) (12 +cox™ + -+ sz — 1)
EF o5 B—Rmfpd > b F(x) A v B> Bk o5 = —1 LBAE > R A
EMER ey BE (22 —2—1)(- -+ cur®>+x—1) =+ 0% + -+ > FId
C1y = —2> V/\%ﬁﬁv}\éﬁﬁi\#ﬁﬁ Ci3 = 3, Clg = —5, ci1 =8> RAleT 23R, ¢ P(x) 89 1%
HEBELAMREI| ¢ BA BN E AR > T a=c = Fig> £F F(16) 235
% 16 BEXARZE > Fk a = 987 »

(k=] 4 F AFLRMREINGE n AP = F, = 1, Fy =
27...,Fn+2 Fn+1+Fn

P=r+1=Fr+F
P=r-t=x(Fr+F) =R+ Fr=Fa+1)+FRr=(FR+F)r+ F,=
=1 =a(FRr+ F) =+ Lr=Fa+l)+ R = (F+ F)r+ Fy

WA EXTFHETH 2" =F, -2+ F,_,;

O:ax”—l—bmlﬁ—l—l :CL(F17'ZL'+F16)+b(F16'ZE+F15)+]_

= (aFi7 +bFg) -2+ (aFig+0F5+1)=0, 2 ¢ Q
= aFi;+bFig=0H aFig+bFi5+1=0

= a= Fig, b=—F7

= a=987, b= —1597

(k=] KMTHAREEFRESHRIBR B AL > BT 4ol SR G AR B
Ko RTHRE o> MBHE—RGRE > FREFEARZET] > TR TEER > KM
f%‘f']ﬁ%z,g/% (F16 + F17(I>ZE + F15b + F16CL +1=0"> Wtk © éﬁ'fg‘%ﬁﬁé ;QPJ/\ &
T&/ﬂﬁﬁﬁ{’%ﬁﬁiﬂ ’ F16b + F17(I = O iﬁi F15b+ F166L + 1= O ’ ﬁﬁ?ﬁf" a = 987 °

FRAFE-mET P LR REABTHG [ LA |54 K

1.8 07-5253809 > A A E T #4442 4 nsysu.problem@gmail.com (£ §
E%rZUI%fF%%%§§§JX'E§ﬁ¥7<J) o RA LFHGEUM L RS S RBEBKTF
AP~ & ~ Y% ~ 255 E-mail -

Fgl’ + F2

:F4[L'—|—F3



